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P3-6: ['LfN', 'NdN', "TsN', 'tgtLfN’, '‘prunLfN']
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P3-6 (plot by DAT)
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P3-6 TsN1 (plot by DAT)
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P3-6 TsN2 (plot by DAT)
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P3-6 TsSN3 (plot by DAT)
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P3-6 TsN4 (plot by DAT)

Harvept

Turn Color

o
-4
Fruit Set

Anthesis

Budding

50 A

o o
m o

Buippng 1oy sAeqg

40 A
10 A
0

Days After Transplant

50

40



P3-6 TsN5 (plot by DAT)
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P3-6 TsSN6 (plot by DAT)
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P3-6 (plot by adjDAT)
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P3-6 TsN1 (plot by adjDAT)
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P3-6 TsN2 (plot by adjDAT)
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P3-6 TsN3 (plot by adjDAT)
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P3-6 TsN4 (plot by adjDAT)
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P3-6 TsN5 (plot by adjDAT)
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P3-6 TsN6 (plot by adjDAT)

Harvept

S

Turn Color

Fruit Set

Anthesis

Budding

50 A

40 -

o o
m o

Buippng 1oy sAeqg

10 A

80 90 100
Days After Transplant

70

60



0.05

0.04

0.03

0.02

0.01

0.00

0.05

0.04

0.03

0.02

0.01

0.00

['S1L6']

0.05

/

0.04

0.03

// 0.02
0.01

0.00

0 20 40 60 80 100
['S1L10']

| 0.05

0.04

0.03

0.02

0.01

0.00

20 40 60 80 100 120

LfAL®BLE)]

['S1L9']

/i

0.05

A

0.04

0.03

0.02

0.01

0.00

20 40 60

['S1L12']

80 100

20 40 60 80 100
['S1L13']

0.05

N

0.04

0.03

.‘\

0.02

0.01 ~

0.00

40 60

80

100 120

40 60 80 100 120




['S1L14']

0.05 A

0.04 A

0.03 A

0.02 A

0.01 A

0.00 -

60

80

100

['S1L17']

120

0.05 A

0.04 A

0.03 A

0.02 A

0.01 A

0.00 -

60

80

100

120

LfA'$A3.153']

0.05 A

0.04 ~

0.03 -

0.02 ~

0.01 A

0.00 -

80

100

['S1L18']

120

0.05 -

0.04 A

0.03 -

0.02 A

0.01 ~

0.00 -

60

80

100

120

['S1L16']

0.05 A

0.04 ~

0.03 A

0.02 ~

0.01 ~

0.00 -

60

80

100

['S1L19']

120

0.05 A

0.04 A

0.03 A

0.02 A

0.01 ~

0.00 -

60

80

100

120




['S1L20']

0.05 A

0.04 A

0.03 A

0.02 A

0.01 A

0.00 -

62

64

66

68

LfA'$R35)']

0.05 A

0.04 ~

0.03 -

0.02 ~

0.01 ~

0.00 -

62

64

66

68

['S1L22']

0.05 A

0.04 ~

0.03 A

0.02 ~

0.01 ~

0.00 -

65

66

67

68

69




['S1IT1Frl']

120 A

100 A

80 -

60 -

40 A

20 A

30

40

['S1IT2Fr5']

50

60

120 ~

100 A

80 -

60 -

40 -

20 A

40

45

50

55

60

65

FNGIPELE)S']

120 A

100 A

80 A

60 -

40

20 A

30

40

5I0
['S1T3Frl']

60

120 A

100 A

80 A

60

40 -

20 A

40

50

60

70

80

['S1T2Frl’]

120 A

100 A

80 A

60 -

40 A

20 A

30

40

50

60

['SIT3Fr5']

70

120 A

100 A

80 A

60 -

40 -

20 A

50

55

60

65




['S1T4Frl']

120 A

100 A

80 -

60 -

40 A

20 A

50

60

7I0
['S1T5Fr5']

80

120 ~

100 A

80 -

60 -

40 -

20 A

61

62

63

64

65

FNGIP3LE)5']

120 A

100 A

80 A

60 -

40

20 A

O_I

52.5

55.0

57.5

60.0

62.5

65.0

['S1IT5Frl’]

120 A

100 A

80 A

60 -

40 A

20 A

0_

60

70

80

90




0 50 100 150

—— RH
—— RH_imp

100 150

Plot Env Data

o _ — TO
—— To_imp
-5 - T T T
50 100 150

400 -

300 A

200 A

100 A

550 — CO02
— CO2_imp
525 =
500
475 -
450 -
425 -
100 150
T
I
600 i
500
400 -
300 !
1
200 A :
. —— PPFD
100 : —— PPFD_imp
1
50 100 150
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Plot ['sfDemLfA']
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